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The figures in the margin indicate ﬁ;ll marks
for the questions

Ansuwer cither in English or in Assamese
1. Answer the followmg queshons . 1x10=10
w em{'a ‘W«' it - _
(a) Mention one importance of normal
-distribution.
PTI) T519 5T SRHIFS! Seas 90 |
(b) When is F-test used?
F-+{R1 (w1 IRP FN W2
(c) Give one property of t-test.
-2 o1 ¢y o
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(d) Mention one cause ‘of heteroscedasticity.
ﬁ*ﬂﬁﬁﬁﬂqéﬁlﬁ#FF?ﬁﬁﬁkﬂﬂﬁﬁﬂl
(e) When does specification error arise?
Rew Reaa o cofom vea =2
() What.is linear equation?
R e R 9 |
(g) Write the full form of BLUE.
- BLUE?’FﬁﬁWWﬂﬁﬁ*ﬂl

(h) Define coefficient of determination.
T R e B
() If the error term is not dlstnbuted

normally with 62 variance, what type of
problem may arise?

:ﬂﬁaﬁB°ﬁﬁhsmwvrﬁﬁﬁwazmmas<:2ﬁm@ﬁ
T, (SR’ (IR PN T84 397

() What is critical region?

Y e Ry
2. Answer the following questions : 2x5=10
O PPTRR T fau
(a) Mention two properties of estimnators.
ST HB1 BT Semy 3 |
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(b)

(c)
(@)

(e)

(3)

What does an error term represent?
@b *m <O & v 2

Mention two sources of autocorrelatlon
??”ﬁﬁ?ﬁaaﬁr%Qﬂﬁzﬁﬂ=ﬁnu

When does heteroscedasticity arise?

e cfem et =2

Distinguish between one-tailed test and
two-tailed test.

F-IRRAR WE R-RRAE RER Twe
Y fer o

Answer any four of the following questions :

5x4=20

O PR 1 e iR e fran -

(@)

()
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What is normal distribution? Mention
the properties of normal distribution. 1+4=5

RS T R 2 4R 357 CQFBPAR o o

What is hypothesis testing? What are

the various steps of hypothesis testing?
1+4=5

Rreq w0 7 o35 Awr R w@w

for o
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(c) Explain type-I and type-II error. 5

;ﬁﬁwwﬁwﬁ%w:@ﬁam
|

. (d) Explain' the concept of regression.
Discuss the importance of regression in

economics. A 2+3=5
STARER 4IRCHT AT 0 | w@l%@ SRR
GG TS S 9 |

(e) Distinguish between multicollinearity
and autocorrelation.

mewmw
HCEE 4 |

() Explain the ‘method of measuring the
goodness pf fit i 1n a multiple regression

model.
R REA WS Te @erer fdy w=E
;I
4. Answer the following questions :  10x4=40

o 2PPTRA e iy

(a) Estimate the regressmn lines from the
following data : ‘ 10
fafRe suw o xq SUqS Y SRR (91
HPEW 991 :

X : 78 8 97 69 59 79 68 61
Y : 125 137 156 112 107 136 123 108
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(b)

()
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(5)
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Explain the consequences of auto-
correlation on OLS estimation. How can

autocorrelation be cox:rected? ) 4+6=10
OLS WRoe TATIOTad TFARed™ Il

390 | % TP (@I S| R 2

What is test of significance? 'Merition the
various steps associated with tests of
significance. 3+7=10

el A R 7 LT AT TS Ho©
PR BCEd 90|
Or/ &%

Explain the consequences of multi-
collinearity. _ 10

I LSRR SN 1 |

State and prove Gauss-Markov theorem
for B, in linear regression model
Y; =B¢ +B, X, +u;, where Bo and B, are
parameters and u, is stochashc term. 10

Yt —Bo +61Xt +ut AEE Cl"' T III

TR-TEFS O IS AE AT FM 1 TS By
wplmﬂWutﬁ"ﬁﬂl




(6)
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- Distinguish between null hypothesis and

(@
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alternative hypothesis. When is chi-
square distribution used? A random
sample of 5 students from a class was
taken. The marks scored by them are 80,
40, 50, 90 and 80. Does these sample
observations confirm that the class
average is 70? [Tabulated value of
t=2-78 corresponding to (n~1) d.f.).
' ' 2+3+5=10

Re Sm w1 Res S e e B )
‘chi-3+f Re3q cofoan IRz 01 = 2 o1 g
5 & T TR wRITEIR @R %
(oS 73 3 80, 40, 50, 90 WF 80
A, R ROEAE &M MRS 76 70
S FAA? [t=2-78F WhRige TM
(n-1) d.f I R o |

Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy

variable in seasonal analysis? Explain.

5+5=10
AL A ARTEH o1 a3t RRAE vere
(PO I T A, W0 401 9oRR
Ronm cvas afeeet v R e <1
7 R F0

( Continued )

(7)

Or/ a3l

Explain how specification error may
arise if irrelevant variable is included in a
linear regression model. Explain the
consequences of specification error. 4+6=10

wepRfie v aal Rem R & @
Teq T M FN? GX FHI ASIR I
gl
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